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� 3HQJDUXK� .HSHPLPSLQDQ� 7UDQVIRUPDVLRQDO�
7HUKDGDS�.RPLWPHQ�$IHNWLI�.DU\DZDQ�%DQN�%5,�
6\DULDK�&DEDQJ�3DGDQJ 'HQJDQ�.HSXDVDQ�.HUMD
6HEDJDL�3HPHGLDVL
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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJDQDOLVLV�� ���� 3HQJDUXK� .HSHPLPSLQDQ�
7UDQVIRUPDVLRQDO WHUKDGDS� .RPLWPHQ� $IHNWLI� ���� 3HQJDUXK� NHSHPLPSLQDQ�
WUDQVIRUPDVLRQDO� WHUKDGDS� .HSXDVDQ� .HUMD ���� 3HQJDUXK� .HSHPLPSLQDQ�
7UDQVIRUPDVLRQDO WHUKDGDS�.RPLWPHQ�$IHNWLI GHQJDQ .HSXDVDQ�.HUMD VHEDJDL�YDULDEHO�
PHGLDVL�� 3RSXODVL� GDODP� SHQHOLWLDQ LQL� DGDODK� VHOXUXK� NDU\DZDQ� WHWDS� %DQN� %5,�
6\DULDK� &DEDQJ� 3DGDQJ \DQJ� EHUMXPODK� �� RUDQJ�� 7HNQLN� SHQJDPELODQ� VDPSHO�
SHQHOLWLDQ�LQL�DGDODK�WHNQLN� WRWDO�VDPSOLQJ�GHQJDQ�WRWDO�VDPSHO�EHUMXPODK��� RUDQJ�
'DWD�\DQJ�GLJXQDNDQ�DGDODK�GDWD�SULPHU�GDQ�GDWD�VHNXQGHU��7HNQLN�DQDOLVLV�GDWD�\DQJ�
GLJXQDNDQ�DGDODK�DQDOLVLV�UHJUHVL�GHQJDQ�YDULDEHO�PHGLDVL�PHODOXL PHWRGH�FDVXDO�VWHS��
+DVLO�SHQHOLWLDQ�PHQXQMXNNDQ�EDKZD������.HSHPLPSLQDQ�WUDQVIRUPDVLRQDO NDU\DZDQ�
%DQN�%5,�6\DULDK�&DEDQJ�3DGDQJ EHUSHQJDUXK�SRVLWLI�VLJQLILNDQ�WHUKDGDS�NRPLWPHQ�
DIHNWLI NDU\DZDQ� %DQN� %5,� 6\DULDK� &DEDQJ� 3DGDQJ ���� .HSHPLPSLQDQ�
WUDQVIRUPDVLRQDO %DQN�%5,�6\DULDK�&DEDQJ�3DGDQJ EHUSHQJDUXK�SRVLWLI�GDQ�VLJQLILNDQ�
WHUKDGDS�.HSXDVDQ�.HUMD�NDU\DZDQ�%DQN�%5,�6\DULDK�&DEDQJ�3DGDQJ ��� .HSXDVDQ�
.HUMD� PHPHGLDVL� VHFDUD� SDUVLDO� DQWDUD� NHSHPLPSLQDQ� WUDQVIRUPDVLRQDO WHUKDGDS�
NRPLWPHQ�DIHNWLI NDU\DZDQ�SDGD�%DQN�%5,�6\DULDK�&DEDQJ�3DGDQJ�

.DWD�.XQFL��.RPLWPHQ�DIHNWLI��.HSHPLPSLQDQ 7UDQVIRUPDVLRQDO�GDQ�

.HSXDVDQ�.HUMD


